ORDER #003972



Cyrano Rox Experience 530 Molino St Suite 104 Los Angeles, Ca. 90013

MAIN CONTACT: ADA 626 - 353 -

6489

SECOND CONTACT: INGRID: 562

881 1169

THIRD CONTACT: TIFFANY

540-233-1080

Order Date: August 3, 2023
ing Address: Due Date: Upon Receipt

PO:

Shipping Address: HYATT HUNTINGTON BEACH 21500 Pacific Coast Hwy, Huntington Beach, CA 92648

EVENT DATE: SEPTEMBER 13TH, 2023 **EVENT STARTS AT 6AM**

GRAND BALLROOM SET UP
INSTALL: TUESDAY AT 8AM
PICK UP: THURSDAY AT 6PM

LIGHTHOUSE COURTYARD

EVENT DATE: SEPTEMBER 14TH, 2023 **EVENT STARTS AT 3PM**

INSTALL: THURSDAY AT 8AM **MUST BE SET BY 1PM**

PICK UP: THURSDAY NIGHT AT 10PM

Description	Qtty	Price		Total
GRAND BALLROOM *TUESDAY @ 8AM*				
Teal Lamoure 132" Linens	18	\$28.00	Т	\$504.00
FOR BANQUET ROUND 72" TABLES				
Teal Lamoure 132" Linens	22	\$35.00	Т	\$770.00
FOR BANQUET ROUND 72" TABLES				
Black Lamoure 132" Linens	40	\$28.00	Т	\$1,120.00
FOR BANQUET ROUND 72" TABLES				
Total GRAND	BALLROOM	*TUESDAY @ 8	4M*	\$2,394.00
GRAND FOYER *TUESDAY @8AM*				
Water Wall Panels, 8ft x 4ft *STEP N REPEAT*	6	\$550.00	Т	\$3,300.00
WITH LED LIGHTS / BASE WRAPPED IN WHITE COLOR				
Custom Decal (PER PICTURE) *STEP N REPEAT*	6	\$175.00	Т	\$1,050.00
PRINTED ON TRANSPARENT VYNIL				
Acrylic Panel with FROSTED/ TRANSPARENT Decal	2	\$350.00	Т	\$700.00
STEP N REPEAT				
DECAL PRINTED ON TRANSPARENT VYNIL				

Description		Qtty	Price		Total
	White Carpet Runner, 6ft x 12ft	2	\$129.60	Т	\$259.20
	Water Wall Panels, 5ft x 4ft *MISTER STATION* WITH LED LIGHTS / BASE WRAPPED IN WHITE COLOR	3	\$450.00	Т	\$1,350.00
	Custom Decal (PER PICTURE) PRINTED ON TRANSPARENT VYNIL	3	\$100.00	Т	\$300.00
	Dessert Cart, White	3	\$350.00	Т	\$1,050.00
	Teal Stripes for Awning (White Dessert Cart) PRICED WITH THE WHITE CART	3	\$0.00	Т	\$0.00
	Decal "Skinvive Logo" (White Dessert Cart) PRICED WITH THE WHITE CART	3	\$0.00	Т	\$0.00
	Artificial Arch Trees with Box Hedge	4	\$250.00	Т	\$1,000.00
m	Flynn Dining Chair, Black FOR REGISTRATION AND BREAK AREAS (10 LOW BOYS)	40	\$24.00	Т	\$960.00
	Dubai Cocktail Table	6	\$90.00	Т	\$540.00
0	Dior Bar Stool, Silver WHITE CUSHIONS	18	\$20.00	Т	\$360.00
	Uprights, 12ft Height WRAP IN WHITE FABRIC OR WHITE VYNIL / HARDWARE TO HANG FABRIC AWNING	7	\$15.00	Т	\$105.00
	Double Crossbar Support (Extends 12ft) WRAP IN WHITE FABRIC OR WHITE VYNIL / HARDWARE TO HANG FABRIC AWNING	8	\$15.00	Т	\$120.00
	Metal Bases WRAP IN WHITE FABRIC OR WHITE VYNIL / HARDWARE TO HANG FABRIC AWNING	8	\$15.00	Т	\$120.00
	Sand Bags PLEASE TAKE EXTRA SAND BAGS	8	\$10.00	Т	\$80.00
	Total GR	AND FOYER	*TUESDAY @8A	ΔM *	\$11,294.20
GRAND FOYER	R *BOTOX* TUESDAY 8AM				
	PURPLE CARPET, 12FT X 5FT	1	\$125.00	Т	\$125.00
	Industrial Fan BEHIND BOTOX SIGN	1	\$55.00	Т	\$55.00
	Uplights (IN FRONT OF THE STEP AND REPEAT)	3	\$40.00	Т	\$120.00
	Total GRAND F	OYER *BOT	OX* TUESDAY 8	BAM	\$300.00
LIGHTHOUSE	COURTYARD (MAIN ENTRANCE)				
	Hot Pink Velvet Pipe and Drape Pullbacks , 8FT X 8FT	3	\$85.00	Т	\$255.00

Description		Qtty	Price		Total
	Fishwire to hang Sign ("SKINVIVE") PRICE INCLUDED ON DRAPING	1	\$0.00	T	\$0.00
	Hot Pink Carpet Runner, 12ft x 40ft MAIN ENTRANCE	1	\$864.00	Т	\$864.00
	Pink Palm Leaves (FOR MAIN ENTRANCE) (4) FOR MAIN ENTRANCE / (2) FOR SUNBATHING PHOTO BOOTH	6	\$750.00	T	\$4,500.00
	Long Strip Uplights FOR THE PALM TREES AREA	6	\$50.00	T	\$300.00
	Hot Pink Carpet Runner, 6ft x 20ft *SIDE ENTRANCES 2 AND 3*	2	\$216.00	T	\$432.00
	Custom Mirror Decals CUT TO SHAPE	6	\$15.00	Т	\$90.00
	Custom Decals (FOR PANELS) CUT TO SHAPE	2	\$20.00	Т	\$40.00
	Total LIGHTHOUSE O	COURTYARD	(MAIN ENTRAN	CE)	\$6,481.00
LIGHTHOUSE (COURTYARD (GENERAL)				
m	Flynn Dining Chair, Black RECYCLED FROM GRAND FOYER	40	\$0.00	T	\$0.00
•	Dubai Cocktail Table RECYCLED FROM GRAND FOYER	6	\$0.00	T	\$0.00
	Dior Bar Stool, Silver *WHITE CUSHIONS* RECYCLED FROM GRAND FOYER	18	\$0.00	T	\$0.00
	Custom: Wayfinding Signage Post	1	\$175.00	Т	\$175.00
	Market Umbrella, Black And White Stripe	6	\$35.00	Т	\$210.00
	Tulum Love Seat, Brown	4	\$750.00	Т	\$3,000.00
3707000	Tulum Arm Chair, Brown	8	\$0.00	T	\$0.00
The state of the s	Tulum Coffee Table, Round	4	\$0.00	T	\$0.00
	Tulum Day Bed, Brown	4	\$0.00	T	\$0.00
	Fuchsia Pillows INCLUDED IN TULUM LOUNGE SET	12	\$0.00	T	\$0.00

Description		Qtty	Price		Total
	Teal Pillows INCLUDED IN TULUM LOUNGE SET	12	\$0.00	T	\$0.00
	Ayla Sectional EACH LOUNGE SET TO INCLUDE (3) PIECES	12	\$125.00	Т	\$1,500.00
	Bloom Coffee Table FOR AYLA SECTIONAL PIECES	2	\$95.00	T	\$190.00
	Nixon Coffee Table, White/gold	2	\$95.00	Т	\$190.00
	Celine Ottoman, Blush Pink *WRAP BOTTOM WITH TEAL DECAL*	16	\$40.00	T	\$640.00
	Fuchsia Pillows	12	\$8.00	Т	\$96.00
	ADD CLIENT FUCHSIA & TEAL PILLOWS	1	\$0.00	Т	\$0.00
	Led Uplights (FOR PLANTS)	20	\$40.00	Т	\$800.00
	Hot Pink Lamoure 120" Linens FOR LOW COCKTAIL TABLES PROVIDED BY VENUE	10	\$28.00	Т	\$280.00
	Hot Pink Lamoure 132" Linens	10	\$28.00	Т	\$280.00
	Teal Lamoure 120" Linens FOR LOW COCKTAIL TABLES PROVIDED BY VENUE	15	\$35.00	Т	\$525.00
	Teal Lamoure 132" Linens	10	\$35.00	Т	\$350.00
	Dessert Cart, White with Decals *MOVE FROM GRAND FOYER* RECYCLED FROM GRAND FOYER	3	\$0.00	Т	\$0.00
	Green Artificial Arch Trees *MOVE FROM GRAND FOYER* RECYCLED FROM GRAND FOYER	4	\$0.00	T	\$0.00
	Pink Umbrellas CLIENT TO PROVIDE UMBRELLAS	2	\$0.00	T	\$0.00
	Teal Umbrellas CLIENT TO PROVIDE UMBRELLAS	2	\$0.00	Т	\$0.00
	Umbrellas Bases PROVIDED BY CREATE	4	\$10.00	Т	\$40.00
	Disco Balls (VARIOUS SIZES) (4) 20" DIAMETER / (4) LARGER	8	\$35.00	Т	\$280.00
	Total LIGHTH	OUSE COUR	RTYARD (GENER	AL)	\$8,556.00
SUNBATHING P	PHOTO BOOTH #1				
	White Double Sided Walls, 8ft x 8ft (SUNBATHING PHOTO BOOTH 1ST SET OF WALL) BACK WILL BE WHITE / DECAL WRAP PRICE INCLUDED	1	\$980.00	Т	\$980.00

Description		Qtty	Price		Total
Decal Wrap for Walls (TEA) PRICED WITH THE WALL 8FT X 8	•	1	\$0.00	T	\$0.00
Custom 3D Light Teal Curv DESIGN		1	\$450.00	Т	\$450.00
FOR BOTH 8FT X 8FT & 8FT X 12	PFT WALL				
White Marlite Flooring, 8ft sunbathing photo booth wi		1	\$460.00	T	\$460.00
Custom Decal (FOR WHITE SUNBATHING PHOTO BOOTH WI	•	1	\$576.00	T	\$576.00
White Double Sided Walls, PHOTO BOOTH 2ND SET) BACK WILL BE WHITE / DECAL W		1	\$1,200.00	Т	\$1,200.00
Decal Wrap for Walls (TEAl PRICED WITH THE WALL 8FT X 1	-	1	\$0.00	Т	\$0.00
Lighting Wash (FOR THE T	WO WALLS)	2	\$75.00	Т	\$150.00
	Total	SUNBATHIN	G РНОТО ВООТН	l #1	\$3,816.00
BARBIE BOX PHOTO BOOTH #2					
Paint Arch Wall (TEAL COL	OR)	1	\$650.00	Т	\$650.00
Add Hardware to Close Ard	ch Wall (TURN INTO A BOX)	1	\$0.00	Т	\$0.00
Custom Decal "MADE BY A "BY JUVEDERM"	LLERGAN AESTHETICS " &	1	\$150.00	Т	\$150.00
Hang Neon Sign "SKINVIVE	Ξ"	1	\$55.00	Т	\$55.00
Lighting Wash (FOR BARBI	E BOX)	1	\$75.00	Т	\$75.00
	Tota	I BARBIE BC	х рното воотн	l #2	\$930.00
Services					
Trucking Fee		2	\$450.00		\$900.00
INSTALLATION FEE *TUES GRAND BALLROOM & GRAND FO		1	\$1,300.00		\$1,300.00
INSTALLATION FEE *THUR LIGHTHOUSE COURTYARD AREA		1	\$1,600.00		\$1,600.00
BREAKDOWN FEE *THURS GRAND BALLROOM & GRAND FO		1	\$1,080.00		\$1,080.00
BREAKDOWN FEE *THURS LIGHTHOUSE COURTYARD AREA	DAY NIGHT AT 10PM*	1	\$1,350.00		\$1,350.00
WILL CALL SERVICE (TO P BURBANK LOCATION	ICK UP & RETURN PROPS) -	2	\$275.00		\$550.00

Notes

Total Products: \$33,771.20

Total Labor/Services/Misc:

s/Misc: \$6,780.00 Taxes: \$2,816.66

Discounts: (\$4,122.15)

Total: \$39,245.71

Payments: (\$0.00)

Balance: \$39,245.71